



Accountability, Honesty, Responsibility, Respect, Friendship, Cooperation, Knowledge

87 QUEEN STREET BUSSELTON WA 6280 M: 0490935625 PH: 9752 1240

FAX: 9752 4707 Facebook: Callows Corner News EMAIL: SCHOOL@CALLOWS.COM.AU

ABN: 79552390561

CAPE NATURALISTE COLLEGE

2024 BOOKLIST INFORMATION

TO RECEIVE 15% DISCOUNT ON STATIONERY ORDER

BY FRIDAY 15th December 2023

AT: www.callows.com.au click on "School Booklists"

Your ACCESS CODE is CNC2024

PLEASE CHECK: Confirmation and Approved Payment. Please print a copy of your order.

OF

ORDERS MAY BE PLACED and PREPAID at: CALLOWS OFFICE CHOICE, 87 Queen Street, BUSSELTON

Between 9.00am – 4.00pm (Monday to Friday)

PRE-PACKED ORDERS can be delivered to you via AUSTRALIA POST under Australia Post normal DELIVERY arrangements for your area at a cost of **\$8.75** (to be paid when ordering).

If you elect to have your order delivered, please fill out the HOME DELIVERY FORM attached.

OF

You may elect to collect your Stationery Order from: CALLOWS Back-to-School Stationery Warehouse, Frederick Street in the LIA (Map inc. online). You will receive a text message when your order is available for collection.

Collection days are TUESDAY and THURSDAY BETWEEN 10:00am – 4:00pm.

CREDIT/REFUND/EXCHANGE/RETURNS:

MUST be accompanied by a receipt.

Stationery items: Refund or exchange on any goods deemed faulty from the manufacturer until the end of WEEK 1 of school commencing.

TEXTBOOKS: Please choose carefully as no refunds on TEXTBOOKS.

Digital Products: No refunds on digital products. These will be under manufacturer's warranty.

If a particular product is unavailable from our supplier, we will substitute with a product of similar/ better quality at the same price quoted.

NAME: STREET: (Number) _______(Name) _______ SUBURB: _________STATE: WA POSTCODE: ________ CONTACT PERSON: _________CONTACT NUMBER: _________



CALLOWS SCHOOLS mart



CALLOWS OFFICE CHOICE 87 Queen Street BUSSELTON 6280 **CALLOWS BTS WAREHOUSE**31 Fairlawn Road BUSSELTON 6280

Phone: **08 9752 1240** ABN: 79552390561

CAPE NATURALISTE COLLEGE YEAR 9 2024

Item	Code	Please tick required items	Qty	Price ea	Subtotal
PERSONAL ITEMS LIST					
CORRECTION TAPE MARBIG SIDEWINDER 5mm*8m Liquid paper not permitted	975753		1	1.50	\$1.50
ERASER FABER CASTELL LARGE DUST FREE WITH SLEEVE	82-187177		1	0.75	\$0.75
GLUE STIC UHU RENATURE 40GM	33-00047		1	2.45	\$2.45
HIGHLIGHTER FABER TEXTLINER ICE WLT4	57-4802-04		1	5.30	\$5.30
MARKER TEXTA NYLORITES ASST WLT12	49872		1	2.45	\$2.45
PEN BIC BP CRISTAL MED BLACK	04241		4	0.50	\$2.00
PEN BIC BP CRISTAL MED BLUE	04243		4	0.50	\$2.00
PEN BIC BP CRISTAL MED RED	04242	-	2	0.50	\$1.00
PENCIL COLOURED TEXTA 12'S	0245810		1	2.95	\$2.95
PENCIL GRAPHITE STAEDTLER TRADITION 110 HB	110-HB		4	0.65	\$2.60
RULER CELCO 30cm WOODEN UNPOLISHED	0321740		1	0.65	\$0.65
- OR CHOOSE BELOW -	0321740		'	0.05	φυ.05
RULER MARBIG 30cm CLEAR PLASTIC	975317B		1	0.50	\$0.50
SCISSORS MICADOR #470 165mm YELLOW HANDLE	SCR470W		1	3.60	\$3.60
If your child is left handed please select scissors below			•	0.00	ψ0.00
SCISSORS MICADOR #300 LEFT HANDED GREEN HDLE 165mm	MO37344		1	4.25	
SHARPENER MAPED SHAKER 1 HOLE with Catcher	8534753		1	0.75	\$0.75
USB DRIVE STAT 32GB	84581		1	9.80	\$9.80
SUBTOTAL		<u> </u>			\$38.30
DANCE					
DISPLAY BOOK MARBIG A4 20 PAGE REFILLABLE ASSTD COLS	2007099		1	1.75	\$1.75
EXERCISE BOOK SOVEREIGN A4 8mm 48 Page RULED	97048		1	0.80	\$0.80
SUBTOTAL					\$2.55
DESIGN & TECHNOLOGY					
NO REQUIREMENTS					
DIGITAL TECHNOLOGY					
NO REQUIREMENTS					
DRAMA					
NO REQUIREMENTS					
ENGLISH					
DISPLAY BOOK MARBIG A4 20 PAGE REFILLABLE ASSTD COLS	2007099		1	1.75	\$1.75
DOCUMENT WALLET MARBIG PP F/C VELCRO W/GUSSET Asstd Cols	2011099		1	1.50	\$1.50
EXERCISE BOOK SOVEREIGN A4 8mm 64 Page RULED	97064		2	1.00	\$2.00
					\$5.25

Item	Code Co	mment	Qty	Price ea	Subtotal
HEALTH					
NO REQUIREMENTS					
LEARNING COMMUNITY					
EXERCISE BOOK SOVEREIGN A4 8mm 48 Page RULED DOCUMENT WALLET MARBIG PP F/C VELCRO W/GUSSET Asstd Cols	97048 2011099		1 1	0.80 1.50	\$0.80 \$1.50
SUBTOTAL					\$2.30
HOME ECONOMICS					
PARENTS TO SUPPLY: 1 x HAIR TIE (If hair is long),	1 x FORK/SPOON T	O EAT YOUR FOOD			
1 x PLASTIC CONTAINER (Suitable to	take food home).				
HUMANITIES & SOCIAL SCIENCES					
DOCUMENT WALLET MARBIG PP F/C VELCRO W/GUSSET Asstd Cols	2011099		1	1.50	\$1.50
EXERCISE BOOK SOVEREIGN A4 8mm 64 Page RULED	97064		2	1.00	\$2.00
LOOSE LEAF REINFORCED REFILLS STAT A4 PK100 RULE	ED 33566		1	3.70	\$3.70
SUBTOTAL					\$7.20
MATHS					
CALCULATOR CASIO FX82AUPLUSII 2nd Edition DISPLAY BOOK MARBIG A4 20 PAGE REFILLABLE ASSTD COLS	FX82PLUSII 2r 2007099	nd ed	1 1	46.00 1.75	\$46.00 \$1.75
DOCUMENT WALLET MARBIG PP F/C VELCRO W/GUSSET Asstd Cols	2011099		1	1.50	\$1.50
EXERCISE BOOK SOVEREIGN A4 8mm 64 Page RULED	97064		2	1.00	\$2.00
EXERCISE BOOK SOVEREIGN A4 8mm 128 Page RULED	97128		2	1.85	\$3.70
PENCIL GRAPHITE STAEDTLER TRADITION 110 HB PROTRACTOR CELCO 10cm 180 DEG'S HALF CIRCLE	110-HB 0344540		4	0.65 0.25	\$2.60 \$0.25
SUBJECT	0344340		'	0.23	\$57.80
					
MEDIA					
DISPLAY BOOK MARBIG A4 20 PAGE REFILLABLE ASSTD COLS	2007099		1	1.75	\$1.75
SUBTOTAL					\$1.75
MUSIC					
DOCUMENT WALLET MARBIG PP F/C VELCRO W/GUSSET Asstd Cols	2011099		1	1.50	\$1.50
MUSIC EXERCISE BOOK WRITER PREMIUM A4 96 8mm RULED/STAVED	57739		1	1.95	\$1.95
SUBTOTAL					\$3.45
PHYSICAL EDUCATION					
PARENTS TO SUPPLY SPORTS UNIFORM AND LONG HAI	R TIE (Compulsory)				
PHYSICAL RECREATION					
NO REQUIREMENTS					
SCIENCE					
DOCUMENT WALLET MARBIG PP F/C VELCRO W/GUSSET Asstd Cols	2011099		1	1.50	\$1.50
EXERCISE BOOK SOVEREIGN A4 8mm 96 Page RULED LOOSE LEAF REINFORCED REFILLS STAT A4 PK100 RULE	97096 ED 33566		2	1.50 3.70	\$3.00 \$3.70

Item	Code	Comment	Qty	Price ea	Subtotal
VISUAL ARTS					
DISPLAY BOOK MARBIG A3 20 PAGE PORTRAIT INSERT COVER BLACK	2008802		1	6.50	\$6.50
MARKER ARTLINE 70 PERM 1.5mm BULLET NIB BLACK	107001		1	3.60	\$3.60
PEN ARTLINE 210 MEDIUM 0.6mm BLACK	121001		1	2.75	\$2.75
PEN ARTLINE 220 FINELINER 0.2MM BLACK	122001		1	2.75	\$2.75
PENCIL GRAPHITE STAEDTLER TRADITION 110 2B	110-2B		2	0.65	\$1.30
PENCIL GRAPHITE STAEDTLER TRADITION 110 2H	110-2H		1	0.65	\$0.65
PENCIL GRAPHITE STAEDTLER TRADITION 110 4B	110-4B		1	0.65	\$0.65
PENCIL GRAPHITE STAEDTLER TRADITION 110 6B	110-6B		1	0.65	\$0.65
PENCIL GRAPHITE STAEDTLER TRADITION 110 HB	110-HB		1	0.65	\$0.65
*Additional items such as canvases and surfaces will ne	ed to be purchased	separately depending on o	ourse pr	rograms.	
SUBTOTAL					\$19.50
HANDLING/PACKAGING FEE	H/PK		1	3.00	\$3.00
Mandatory fee for all pre-packed orders.					
ORDER ONLINE AND RECEIVE 15% OFF STATIONERY IT	TEMS. (THIS OFFE	R IS ONLINE ONLY & CAN	NOT BE	OFFERED INS	TORE)
(Offer excludes Textbooks, Calculators/Classpads and T	echnological devic	es)			
DELIVERY FEE	Delivery		1	8.75	\$8.75
	ORDER TOTAL:				

PLEASE NOTE: To guarantee prices quoted and supply of all items, please ensure orders are placed by due date.
PLEASE RETAIN YOUR RECEIPTS AS PROOF OF PURCHASE.

OF	FICE	HIGE	ONLY
OF		USE	OIL

Date:	Amount Paid:	Sales Assistant:	